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I Analysis of our mwn: (continuing with investigation of need for mention of 05,0003 etc. as per previous inquiries)
a  "py7wp 537* needed for onana
i Per:»1m112’s approach (1:X 09pv) that 0’102 are essentially exempt from Ypwn no¥nn but may donate
1 Note: they may only donate via giving it to M12¥; else it is a problem of n71YY PN
2 Dissent: 1"27; (explains their rationale — per v. 1, if they donate, o290 nn% Bn%n 'nw 1M should be n%581 D™ IOR)
ii  And:R™vo, per v. 2, that anyone who isn’t obligated to bring w”nnn cannot be 1yn — 9"np
1 Challenge (7ax): v. 2 is used to teach that no 719 may be less than 1 50 (in case where 7yn is assessed per T 2wn)
iii  Rather (»aK): per v. 3, R"10 anyone exempt from jan 1779 cannot be 77yn, "np that 031> may be 7N
1 Challenge (837): if so, since Mm% 1 DWR (v. 4) invokes 797p, we should equate those and exempt X0 from DWR R
iv  Rather (8370r *WX "): per v. 5, someone who cannot pay full comittment is “stood before jn13” — 8”10 must be non-jn
b ’p27w1% includes (as per above) someone who is physically repulsive (nw naim 5nin)
i source: Rn1 interpreting 7271 (v. 6)
1 oo 779 extends to unspecified 7 (DINo T)
(a) meaning: if he states *>» DIno 7, he pays 3 ¥5v (the lowest amount of 1?29y — girl below 5 yrs.)
(i) challenge: why not obligate him to pay 50 (highest amount)?
(ii) answer: NLAN RY NN NOAN
1. challenge: if so, why not allow for 1 y5v per v. 27
2. answer: that is only applied to T 2wn (someone who cannot pay full commitment)
(b) question: if so, what is the purpose of the nw11?
(i) answerl (/max 72 727 ow3a 1”): ;N 7 doesn’t get opportunity of T awn; it is as if he stated “3 w5pw”
(if) answer2 (8727 pwa 17): oo 7w is afforded 7 awn dispensation; not considered wian3
2 1519 71 doesn’t pay 77 of limbs, only full person (even though we used 7 for ninvo 77y; this is from 727y)
(a) however: this does not extend to a limb which is vital (e.g. heart) — per mwas
(b) nm: we exclude nn 7y from mwas (vital limb from wa3; nn from mway)
(c) oo is also excluded, per v. 5 — cannot be “stood up” for assessment >excluded
(i) challenge: why not exclude nn via v. 5?
(ii) answer: indeed — which leaves us with a “surplus” — m/va
(d) multiple: mwa) also teaches that if 1 includes many in his commitment, it is valid
(e) women: mwa also teaches that a woman who commits to an 71y is obligated
(f) 510 mwa also teaches that a repulsive person (who has no nn1-value) maintains his 71y
(i) challenge: we already used m/wa1 for multiples and women
(if) answer: since multiples and women have equal claim to be included, w2 (alone) extends to both
1. therefore: the surplus mwai extends to Pnw n21M H1MN
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(g8) warmnr oo 197y M teaches that X", who are not valid objects of 127y, are valid objects of 007

(i) in spite of: source of DNT is 797P1 IT); RV if no 71, no DnNT; Y"Np they have subjective value
(if) challenge: no need for ,oy; should be no worse than committing to the w17 of a tree (obligated)
(iif) answer (837): teaches that we allow 11123 (his head) to “drag the body along”
(iv) Challenge (»1x): if someone is not included in 137p, we do not apply 11231 N1
1. Proof: if he commits slave’s head to w1pn, then he and w1pn are partners
2. And: if he sells his slave’s head, buyer and seller have to negotiate
3. And: if he sold his cows head, only head is sold
4. Even more: if he was w1pn his cow’s head, w1pn only owns head
a. Reason (979): cows” heads are sold indepedently at slaughterhouse
b. And: since donkeys and cows aren’t included in 137y (not 11221 1111)
c.  Block: slaves are included in 127y, yet they are evidently not 11251 P
5. Rather: y1a31 1771 only applies to nan p1a >w1p; if he was namb vnT W1pPN, only head counted
a.  Challenge: if »aR’s Rn»11 is N2 >w1p, why shouldn’t #4 “spread” to entire cow?
b.  Per: Rn» 1 — if someone is W*Tpn a leg as nvy:
c.  »”: doesn’t spread, per v. 9; rather, sold to people who need n%y and funds are nam
i.  Except for: value of the leg (e.g.)
d. oy ’7,w",7m7 "1 entire animal becomes N9y, per v. 9
i.  And: even n™ will agree that if he was w*1pn a vital organ (e.g. head) — nw1Tp spreads
6. Rather: v11292 1711 only applies to gun nwTp (V1W22); if WNT NVITP, no VIVA = not 1131 N
a. Challenge (8375 »280: ®21 himself ruled that if someone sanctifies a male vn7Y, it has 2"mTp
b.  Defense: that is a case where he sanctified the whole animal; here, he was w»1pn 1 limb
i.  Challenge: even with 1 limb, n27 asked if TnX 728 w»7pn has VIV
ii. Answer: that question was about a bn; we are discussing a D 9y (:11nn)
iii. Challenge: n11 asked that question as well: what if he is w*1pn his head to the nam?
iv. Answer: he asked that before hearing of our ®Xn»13; afterwards — didn’t ask
(v) but: they are not included in 157 as either 92t or nap, per v. 8

I reevaluating na7’s question (and related questions):

a

737 if he is w791 his head to the nam — is it 171292 1721 or not? 1PN

i Lemmal: we have no precedent of n>nT that are not judged 11132

ii ~ Lemma2: we have no precedent of nam% wip that is judged ymasa

~27 if someone commits his own 71y — to the nam; does he have potential relief of T 2wn? p'n

i Lemmal: we have no precdent of 137y without 7 »wn

ii ~ Lemma2: we have no precedent of anything nam?% v11p that is redeemed for anything but its value
»wN “7. if he was W Tpn a NNR TV to the nam —1pn

i Lemmal: we don’t find a nmnR nTw redeemed for less than the standard 50 Ypw per 112 noa

ii ~ Lemma2: we have no precedent of anything nam?% v11p that is redeemed for anything but its value
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